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c interpretationof tyres

Cocycle condition
2 5 7

arcs in each
2 V triangle K l

0
in X We'll see pairing

The cohomology class is k homology n k cohomology

o o I boththe
intersect with purple homecod are O



ThenJcase
2 Cocycles I cocycles

This eats I chains
Cocycle condition same

of incoming outgoing dots

The cohomology class is
intersect with purple



Exples of 2 yes we know H D 74 0

X D So 4 84
What is y

460

1 9 Solution
i 9 r 3

1
7

n

g g g

antiderivative

i

o o I o o

y
Any ettof 0 is a cocycle

No obstructionIs it trivial in Im di



X 5 Again everyettof 02 is a 2 cocyele
since 03 0

bronc 9
Any y can be thoughtof as 6 nuns

E ai f
If we want 84 4 thenb u ar t if s
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O O Each D gives an equation

E bid a

etc sa
Want to show btf c

etf day
bta etc l

a 0 in H s
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contradie no antideriv Y



Howgre homology cohomologyrelated We'll also see

we'll see as abelian92s H X Hom Hill 7L

Hn x Ana
Tn x

Tn X Note Hom 742,721 0

where Tn torsion part of Hn

forexapple X IRP

Ho X 7L HEX Z

H X 742 H X O

Hux O HEX 742
find it



Exampleof chain complex

C o 72372 272 72 o

Ho K H 742 112 0 43 2

C O 72 ZE Z o

Hom71,72 Hom72,72 verifythis

H K H O 42 742 113 72




